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Ecological Footprint

The expansion of the human population exerts tremendous pressures on the environment. Most of these pressures are for the most part caused by human demand for land and other resources. Some of this human activity includes draining swamps, plowing grassland areas, building cities, mining for ore and connecting cities with transportation routes. 

An ecological footprint is the amount of space required to support a person's activities. It can be measured at a number of different levels. In this activity, you will calculate your own ecological footprint. 

Think of all the things you need in order to live your lifestyle (e.g., the food to feed you, the house/apartment you live in, the energy to keep you warm and transport you, etc.) and how much space each of these things requires. Then, try to think about how much total space is necessary to sustain you. 

1. Now, calculate your own personal ecological footprint (EF) at this website:
http://www.earthday.net/footprint/index.asp  Choose Canada and English. This will take you to the questionnaire. Keep in mind the average EF for Canadians living in an urban setting is 8.8 ha.
2. Complete the questionnaire to determine your EF. Try to explain any reasons why yours is above or below the Canadian average.
3. Go Press the "Take Action" link to find out what you can do personally to change your lifestyle to benefit the planet. Note: you will need to enter, “take action” into the Search bar to find the page.
4. Then click on the Individuals link on the right under the WHAT YOU CAN DO heading. Pick 5 things in that list that you feel you could manage to accomplish. Which one would give you the most trouble and why? 
5. Here is another EF calculator at (http://www.royalsaskmuseum.ca/exhibits-galleries/life-sciences-gallery/human-factor/). There is a link on the homepage. Use their calculation for your EF. Is there a large difference? Can think of reasons why?
6. Try this EF calculator from the WWF: http://footprint.wwf.org.uk. Did you find a great deal of difference between your EF results?

7. Text page 522. "What about my 6.4 hectares anyway?" Q#1-5, 7, 8.
OLD TEXT 477-478. "What about my 4.27 hectares anyway?" Q #1-5, 7, 8.

8. Submit your assignment next class.
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